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( English Version )
Each question carries 1 mark
Full Marks : 50

1. Which of the following temperatures is the highest

T R

3 (A) 220°F ' (B) 80°C (C) Boiling point of water (D) 273° K
| 2. Which of the following two physical quantities have the same dimensions ?
(A) Force and stress (B) Young's Modulus and pressure
(C) Torque and work (D) Power and energy
3. The dimension of surface tension is
(A) MLT™ @) LT (©)MT” | (D) MLT’
4. Inan elastic collision the follkowing physical quantities are conserved
(A) Kinetic energy or momentum (B) Kinetic energy and momentum
(C) Potential energy and momentum (D). Potential energy and kinetic energy
5. Ifthe source of light is at infinity, the shape of the wavefront is
(A) Spherical (B) Conical (C) Elliptic (D) Plane
6.  The given truth table corresponds to
‘I Inputs Output
A B Y
1 ] 0
1 0 l
0 1 1
0 0 1
(A) OR Gate (B) AND Gate (C) NAND Gate (D) NOR Gate
- 7. Ahollow conducting sphere carries some charge Q. The potential at any point inside the hollow sphere
is
(A) A negative constant (B) A positive constant
(C) A constant whose sign is that of Q (D) Zero
8. Within the elastic limit the Young's modulus of a copper wire depends on its
: (A) Stress ‘ (B) Strain (C) Cros sectional area {D) Material (copper)
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9. The process of heating water iﬁ an open versel is
(A) Isothermal (B) Isobaric (C) Adiabatic (D) Isochoric
! 10. Light ray traveliing from rarer to denser medium gets refracted. The angle of refraction is
! (A) Smaller than the angle of incidence (B) Equal to the angle of incidence
(C) Larger than the angle of incidence (D) Larger than the critical angle

11.  Conservation of which of the followings is implied by the first law of Thermodynamics ?

| (A) Heat (B) Work done (C) Momentum (D) Energy

: .

| : . ' :

* 12.  Inablack body radiation, the energy emitted per second (E) is related to its absolute temperature T by
(A)E « T B)E o« T €3E = T D)E o« T'

13.  Inasemiconductor conduction of current is due to
(A) Only electrons (B) Only holes
(C) Both electrons and holes (D) Neither electrons nor holes
14.  A-convex lens of flint glass has focal length f in air. When subme:rged in water it behaves as

(A) Convex lens of same focal length (B) Concave lens

(C) Convex lens of shorter focal length (D) Convex lens of longer focal length

1 15.  Inthermal expansion of solids the coefficient of linear expansion a , the coefficient of surface expansion

B and the coefficient of volume expansion y are related as

(A) a=p=y ®) 5= (©) a=28=3y (D) 60t=38=2y

16.  Pure blue and red light beams are passing through a glass prism. Which of the following is true ?
(A) Blue light has higher dispersive power
(B) Blue light has higher refractive index
(C) Blue light has less refractive index
(D) Refractive index is equal for both blue and red lights
L ©17. Inthe equation S = a + bt + ct?, S is measured in metres and t in seconds. The unit of ¢ is
‘ (A) Metre (B) Second (C) Metre/second (D) Metre/second?

18. N different particles are all situated at a distance R from the origin. The distance (d) of the centre of

mass of the particles from the origin is

(A)d=R (B) d>R (©d>R (D) d<R
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19.  The position at time t of a particle moving in a straight line is given by x = 2t(1+3t). The acceleration of

the particle is
(A) 2 B)o6 <3 Dy 12
20. If the distance between two charges of the same sign is decreased, the electrostatic potential energy
(A) Remains unchanged (B) Decreases
(C) Increases (D) May increase or decrease

21. (A mass m is moving with momentum p. Its Kinetic energy is

2 2
&) = ») & © o

m 2m

_P
2m?

22, An ideal gas is compressed isothermally. If the pressure increases by 25%, what is the percentage

decrease in volume ?
(A) 22 (B) 20 (C) 215 (D) 30
23.  Decimal number 27 is equivalent to Binary number

(A (10111), ~(B) (10101), (C) (11001}, (D) (11011),

24, Theresultant of two vectors A and B is perpendicular to A and it has magnitude half that of B| The

angle between the vector A and B is
(A) 90° (B) 120° (C) 140° (D) 150°
25. A piece of wood of mass M and volume V is floating in water. Which of the following is true ?
(A) Volume of displaced water is V (B) Mass of displaced water is M
(C) Density of water is M/V (D) Density of water is less than M/V.

26. A freelv falling body of mass m in the t" second of its fall loses potential energy by

(A) %mgt: (B) %mg(t + 1)2 © %mgz (t-1) (D) %mg2 (2t-1)

27. The energy of an electron in the n™ orbit of hydrogen atom is
(A) Proportional ton (B) Inversely proportional ton
(C) Proportional to n’ (D) Inversely proportional to n’

28.  An uncharged conducting ball is suspended by a thread. A charged conducting ball is brought very

close to it. The uncharged conducting ball will
(A) Not be attracted or repelled

(B) Will be attracted

(C) Will be repelled

(D) Will initially be attracted and after touching the charged ball it will be repelled.
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29.  Laplace equation for velocity of sound in gaseous medium is

_, P yve [P Gv= |2 =\[f8
(A)V—Y\/; ®v=r OV, D) V="

30. Halflife of radium is 1622 years. Starting with 10gm of radium, the amount remaining after 3244 years
is

(A) 10 gm (B) 5 gm (C)2.5 gm (D) 0 gm.

S SR 55, St

31. A transverse wave is expressed by the equation y =10 sin 21\:(— - —X—\,, where x isin cm and t is in
sec. The wavelength of the wave is

. - 100
(A)10em (B) 100 cm (©) 5 om (D) 1000 cm

.. » 32.  The coordinates of a moving particle at an arbitrary time t are given by x =ct? and y = bt?, where c and

' b are given constants. The velocity of the particle is

(A) 2tVe? + b? . (B) 2t be ©) tVet + b‘2 (D) 2tc? - b?

+C

] ' 33. Aparticle of massm having angular momentum L is moving in a circular path of radius r. The centripetal

i force on the particle is

L2 Lz ‘ LZ
=) ® o © P}

2
mr

34. Three corners of a square have charges +1, -2, +5 esu. What charge should be placed on the fourth
corner so that the potential at the centre of the square is zero ?

(A)—4esu - (B)+3esu (C)+4esu _ D) -3 esu

35.  Two equal masses (m) are moving in a circle of radius R under the influence of their mutual gravitational

attraction. The velocity of each mass is

| A [Gm ) [om o 5 o o’
| R ®) | © == ) |~
; 36.  Acell of 12V is connected across a resistance of 10€2. Assuming zero internal resistance of the cell,
’i . the heat generated during 1 minute is
(A)72) (B)14.4) (C)86.417] (D) 864

37.  Aparticle is moving in a vertical circle of radius r. In order to stay on the circle the minimum velocities

at the highest and lowest points of its path are respectively

(A) \er , J5er B) S5er , Jor (©) 2er , f5er (D) 5er ., 2gr
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Refractive index of glass is 1.5. Speed of light in vacuum is 3X10%m/s. The speed of light in the

38.
abovementioned glass is
(A) 4x10%m/s (B) 2x108m/s (C) 4.5%10%m/s (D) 3x10%m/s
39. Inthe adjacent figure the tension in the string is |
T v
g
m
L 3m
' 3 2
(A) 4 mg (B)2 mg (€) ;meg (D) 3me
40. A particle moving in a straight line travels the first t sec with velocity v, and the next t sec with velocity
v,. The average velocity of the particle over the time interval 2t sec is
Y +Av2 vz 2vvy
@)+ ®) v, © 3, ) =
41.  An electric dipole is placed in a uniform electric field. The net electric force on the dipole .
(A) Is always zero
(B) Depends on the relative orientation of the dipole and the field
(C) Can never be zero
(D) Depends on the strength of the dipole
42. A particle starting from rest moves with uniform acceleration o for some time. Then it undergoes
uniform declearation 3 and comes to rest. If the total time,lis t, the maximum velocity of the particle is
a+p a+p  of
=" F —t
. A) = (B) 5 © (a+B)t ® 415
43.  In the adjacent figure the equivalent capacitance between points A and B is
* 20uF o || 20pF
[ I
| '
; [
{ 10pF
: (A) 50 pF (B)30 pF (C)20 uF (D) 10 uF
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44.

45.

Two sonometer wires of the same material have equal tension. If the ratio of their lengths is 2 : 1 and

the ratio of their cross sectional radii is 1 : 4, then the ratio of their fundamental frequencies is
(A)2:1 (B)1:2 (C)1:1 D) V2:1

In the given circuit the equivalent resistance between the points P and Q is

10 30
P 320 Q
102 30

(A) 40 B)20 (C) 6Q (D) 10Q

46. The sound of thunder is heard 7 sec after a flash oflightning. If the speed of sound in air is 330m/sec,
the lightning flash occured at a distance of
(A)231 Km (B)23.1 Km (C)2.31 Km (D) 231 Km

47. Mass of an oxygen molecule is 16 times that of a hydrogen molecule. The ratio of the total kinetic
energy of the molecules of one mole of oxygen to that of one mole of hydrogen, both kept at 100°C, is
(A)16:1 (B)4:1 ©)1:1 (D)1:4

48.  Helium has atomic number Z = 2 and mass number A = 4. The ratio of the radii of the first Bohr orbit
of He" ion to that of Hydrogen is
(A)1:4 BY4:1 C1:2 D)2:1

49. Tﬁe ratio of r.m.s. velocities the molecules of a gas kept at equal pressure and temperatures 800 °K
and 200°K respectively is
A)4:1 B)2:1 ©1:2 D1:4

50. A radioactive nucleus X undergoes a 3~ decay to form Y. Y undergoes an o decay to form Z. Under
this transformation
(A) The mass number of Z is higher than the mass number of X by 2
(B) The mass number of Z is lower than the mass number of X by 2
(C) The atomic number of Z is higher than the atomic number of X by 1
(D) The atomic number of Z is lower than the atomic number of X by 1
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CHEMISTRY
( English Version )
Each question carries 1 mark
Full Marks : 50

1. Which is the correct order of basicity ?

(A) NH; > CH;NH, > (CH3), NH > NF; (B) NH; < CH3NH; < (CH3); NH < NF;

(C) NF; > NH; > CH;NH,; > (CH;), NH (D) NF; < NH3 < CH3NH, < (CH3); NH
2. Which of the following is known as oil of wintergreen

" (A) Methyl salicylate (B) Methyl acrylate (C) Methanol (D) Dimethyl ether

3. In which of the following reversible reactions K pis greater than K

(A) N2+3H, = 2NH; (B) Hy+1, == 2HI

(C) PCls = PCL+Cl, (D) 280;+ Oy = 280;
4. Which of the following coﬁpound have linear structure?

(A) N2O (B) BF; (C) CoHy (D) SF4
5. Spelteris

(A) Zinc compound (B) Zinc alloy (C) Zinc amalgam (D) Impure zinc
6.  Which one is a dibasic acid ?

(A) HPO; (B) H;PO- (C) H;PO; (D) H;PO;
7. Chalcopyrites is an ore of copper with composition-

(A) CusS. Fe,S; (B) CuCO;. Cu(OH), (C) 2CuCO;. Cu(OH), (D) Cu,S

8. Which of the following compounds on dehydrohalogenation will produce only one alkene

4 (A) Br C(CH;).CH,CH; (B) Br CH, CH(CH3)CH,CH;

(C) CH;CH,CH,CH Br CH; (D) (CHs), CH CH Br CH,CH3
e 9. Which of the following reagents cannot be used for distinguishing propanal and propahone

(A) Brady’s reagent (B) Tollen’s reagent
(C)Benedict solution (D) Fehling’s solution

4 10.  The cation which produces transient brick red flame in flame test is-

| f (A) Sr* (B) Ca** (C) Cu* (D) K*
JENPARH P&C | - (9)
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11.  Which of the following is true for isothermal reversible expansion of an ideal gas
" (A) AS (system) = AS (surroundings) = positive (B) AS (system) = -AS (surroundings)
‘ (C) AS (system) + AS (surrouridings) = positive (Dj AS (system) =AS (surroundings) = negative
12. rThe unit of electrical conductivity is ‘
? (A) Ohm (B) Ohm™* cm! (C) Ohm™' cm? (D) Ohm
| 13.  Anaqueous solution of sodium acetate is
(A) Basic (B) Acidic (C) Neutral (D) Amphoteric
14.  Which of the following statement is correct |
(A) Molar volume of any gas is constant at all temperature and pressure
(B) Molar volume of any gas at 0K but any pressure is constant
(C) Molar volume of any gas at 760 mm but any temperature is constant
(D) Molar volume of any gas at STP is constant’
15. - Solubility of a sparingly soluble salt
(A) Increases in the presence of common ion
i (B) Remains same in the presence of common ion
; (C) Decreases in the presence of common ion
(D) Remains same in the‘presence of any other ion
16. Molecularify of a reaction can be
(A1 (B)O0 C) % (D) -1
| 17.  Which of the following statement is false-
(A) Osmosis is the flow of solute molecules through a semi- permeable membrane
(B) For a given concentration. osmotic pressure is directly proportional to absolute temperature
(C)Fora given temperature. osmotic pressure is directly proportional to concentration
(D) Osmotic pressure is a colligative property
18. The protective power of a hydrophilic colloid is expressed in
(A) Avogadro number (B) Gold number (C) Mass number (D) Van’t Hoff factor
19. A metal ion solution on treatment with ammonium chloride and ammonium hydroxide produces a reddish
brown precipitate. Name the metal jon present in the solution -
(A) Cu* (B) AP* (C) Fe** (D) Fe*
. JENPARH PEC (10)
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20. Amount of silver present in German Silver

(A) 25% (B) 10% (C) 0% (D) 2%

21. Inthe titration of sodium bicarbonate with hydrochloric acid which of the following indicator is used?
(A) Methyl orange (B) Phenolphthalein

(C) No suitable indicator | (D) Any acid- base indicator

22.  Which of the following units of strength of solution is temperature independent?

(A) Normality (B) Molarity (C) Molality (D) Formality

23. Giventhat E° (Ag*/ Ag) =+ 0.80V and E°(Zn*/Zn) = - 0.76 volt. Which of the following statement is

correct?
(A) Ag can reduce Zn™ (B) Ag" can be reduced by H,
(C) Zn can oxidize Agto Ag’ (D) Zn* can be reduced by H,

24. If the molecular weight of oxalic acid is ‘M’, then the weight of oxalic acid in gram, required to

prepare 250 ml (N/10) solution is-
(A)M/40 (B) M/80 (CYyM/20 (D) M/4

25.  Which ion gives coloured solution?

(A) Cr*” (B) AP © M‘g” (D) Zn*

26. Salol is prepared from

(A) Salicylic acid and methy! alcohol (B) Salicylic acid and phenol

(C) Salicylic acid and propanol (D) None of the above

27. Ethyl acetate reacts with sodium ethoxide to form ethyl-acetoacetate. The reaction is known as
(A) Aldol condensation (B) MPV reaction

© Kolbe reaction (D) Claisen condensation

28. Number of electrons required to reduce 1 mole Cu** to Cu- (N, is the Avogadro number)

(A) N, (B) N, /2 (C) 2N, (D) 1 mole

29. The equivalent conductivities of acetic acid, sodium acetate and sodium chloride at infinite dilution

are 390.9, 91.0 and 126.4 units respectively. Calculate the equivalent conductivity of HCI solution at

infinite dilution.
(A)426.3 (B) 608.3 (C)355.5 (D) None of the above
30. Solid NaCl has the following structure.

(A) Octahedral (B) Tetrahedral (C) Linear (D) Cubic

JENPARH P&C : | ( 11 )
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31. Choose the nonpolar compounds from BeCl,, H S, BF,, CO,, and NH,.
(A) BeCl,, H,S, BF, (B) BeCl,, BF,, CO, (C)BeCl, H,S,NH, (D) BF,, CO,, NH,
32. A system in which energy exchange but not mass exchange is allowed is —
(A) Open system (B) Closed system
(C) Isolated system (D) Adiabatically insulated system
33. 820 ml of a vapour of a compound at 27°C and | atm pressure weighs 2g. Its molecular weight is
(A) 60 (B) 44 (C)30 (D) 90

34.  When aniline is treated with NaNO, and dil HC1 at 0 - 3°C and then added to B-naphthol a colored dye

is formed. The name of the reaction is :
(A) Gatterman Reaction (B} Diazocoupling reaction
(C) Diazotisation Reaction (D) Diet’s Alder Reaction
35.  Oxidation number of Cu in K,[Cu(CN | is
(A)+2 o (B1-3 (€)0 (D) +1

36. When molten sodium chloride is electrolyvsed using mercury cathode and graphite anode, the cathodic

and anodic products are respectively
(A) Na and CL +BiNa and O, (O H, and O, (D) H, and Cl,

37.  Which of the foliowing will respond 1o todoform test

0 o) (”)
I I
(A) H;C-C-Cl 'B1 H:C~C-0O-C-CH,
0
I
(C) H4C-C-NH, (D) H:C-CHO

38. Natural rubber is a polymer of
(A) 1, 3~ butadiene (B) 2- methy propene
(C) 2- methyt 1, 3- butadiene (D) 2-chloro 1, 3- butadiene -

Among the halogen hydracids which one is the strongest acid?

9
W)
O

(A) HF (B) HBr (C) HI | (D) HCI

40.  Toan aqueous solution of borax first phenolphthalein and then glycerol is added.
(A) The solution turns pink (B) The solution does not change colour
(C) Colour of the solution first turns light pink and then the colour deepens

(D) Colour of the solution first turns pink and finally colourless

JENPARH P&C (12)
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41. The lack‘otl'vitamin C leads to—

(A) Anaemia (B) Night blindness ©) Scurvy (D) Beriberi
42. The reaction of chlorine with foluene in presence éf ferr‘ic chloride gives predominantly

(A) Benzoyl chloride - (B) Benzyl chloride

(C) m-chloro toluene (D) o and p-chloro toluene

43.  How many primary amines are possible for the molecular formula C,H, N

(A) 4 (B)3 )2 (D) 5
44, The electron affinity order of the halogens is —

(A) C1>F>Br>1 (B) F>Cl>Br>1

(C) F<Cl<Br<I ' (D) F<ClI<I>Br
45.  Choose the correct dehydrating agent used for drying ammonia gas

(A) Quick lime. (B) Phosphorus pentoxide

(C) Conc. H,SO, (D) Anhydrous CaCl,
46. Berrylium shows diagonal relationship with the element-

(A) Ga - (ByMg (C)Al (Dj Li
47.  2-propanol is formed when methyl magnesium bromide reacts with —

(A) HCHO (B) CHCHO  (C) C,H,0H (D) CH,COCH,

48.  Heating a mixture of sodium benzoate and sodalime gives :

(A) Benzene (B) Methane (C) Toluene (D) Calcium benzoate

49.  Average life period of a radioactive element is
(A) 1.44 k (B) 1.44 ¢, (C)0.693k (Dykx t,/0.693
30.  Volume strength of a sample of hydrogen peroxide is *15 vol’. Its percentage strength is approximately

(A) 2.25 (B) 4.5

(94

© 9 D) 1.12
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PHYSICS

( Bengali Version )

Each question carries 1 mark

Full Marks : 50
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9. AT AT TET SN A aAfZFas
(A) AT (isothermal) AB) AIGIA (isobaric)
\&

“ (C) sl (adiabatic) ' (D) A R RICT (isochoric)
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:\ (C) =75 (momentum) LDy <7 (energy)
1 12. Fe e S ofS eee RS e (B) 932 397 »=mw oemmal (1) ke skige
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S T

mmmw ([91 AT TANHA FNT 2o

1'2/(A)V=v\f—g —éﬂwg (C)V:\/YEP- :(p)v:\/lze“

& 30 GREAITNR (radium) ST (half life) 1622 21 10 gm GIGAN NCH 9 0T 3244 I27 21 TP
(A) 10 gm (B) 5 gm (C) 2.5 gm (D) 0 gm [\é”?
h s
- . “ h - )
H 31 436 fofF warsm@ 7HFa¢ y =10sin2z 5%—%1 (T x GIFORBIR G2R t (GLFCY 2 *1 l f,"&
R SR AT 2 N7 MQ}
\2- , 100 ’
(A) 10cem Br100cm ©) 5 cm (D) 1000 cm
32, @3 TEE TN (@ I t T BT (coordinates) x = ct? G v =bt?, @ ¢ G b & |
Fo7 sifere ¢
) b Il
S)(f 2tye? + b? . < (C) tvc? +b? : . (D) 2tJe? - b?
3. m SR G T G el L R ¢ i o FelTe AR | (7 &= e wioam
@ 79
LG 12 oL 2
() —3 ® © — | D) 5
34, qofb quofa fos (F0% RTe + 1, -2, +5 esu S AL 267 | el Rqrs e Si AT a0ed
") (FHECS o7 % 212
&) — esu (B)+3 esu (C) +4 esu (D) -3 esu
35, W eRE (m)wﬁ‘wﬁ AT TR SR 0 THICH R WAL JeIPE 2/t wifemet Tz |
\ 2 G 5, om o 6 o JGR
Ay 4R (5 47R (< VY mR D) m
W 36 12V G G0 (PR (cell) 10Q £33 TS TR G (SIE TEIEA (1 A, 1 RS Bestw :
L9 O s ]
(A)72] (B) 14.4 ] (C)86.4J (D) 864 1
37, «f5 Il ¢ TP ST Jeo I | W el ARAE T 4% ey @ ey e e
(9 I
VL 9F ar . e ®) S, Jor (O L e D) e . ’
JENPARH P&C ' (17) - ‘m ( @Q’Y
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o T2 “
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yw&%ﬂ?{% 1.5 5 [0 G ST oot 3éx 10® m/s 5 6 TN ST oifST91 2T

(A) 4 X 10% m/s (B) 2 X 10® m/s £7%.5 % 108 m/s (D) 3 X 108 m/s
39. W@%mmm(tension)ﬂﬁw
=39
N N e
~ \Le\‘ N 2 @%f e N9 Y
5 —?mg m INNE )
= 21w m
¥ B // 3m
we L
IR, 2
(A) 4 mg (B) 2 mg @5 me (D) 5 mg
407 FIECIAT SN G0 N AL tsec v, SITSTATH G 2FIE! tsec v, SIFSTATH AT | BATAE 2t sec
S 403 91T siforaat
v+ v ' | ViVy vy
= - (B Jnn €©) 5, ®) 5,
41, @3 AYFeT RTETE 9 N Fies CHa aAfsgiem 1 20e1 ReIwd B9itd (b 2ye I
(A R N0 =
(B) (Afes Cwtaa i ¢ farszea fatsa o (ite ©olg fosa 3t
(C) T4 %77 T = (D) RT3 AR T77 W
42. @0 3 FARE (A0F A 9T B Y AT 40T o FNGAE 5T AT B AN HLE W
- FoREE 9T | (it 3@ AN ¢ 206, G A aferas
a+p a+fB af
A) = ®) g (C) (a+B)t at+B
13 Afifes ra g A @ B @7 o7 51 41g T - ACHRNO
i A‘O(_)g .
X : 3
\{L- 20MF| | | :|20MF . A
|1 ] ﬁ@yﬂ
Pr —— R @
10pF =
(A) 50 uF (B) 30 uF (@120 uF (D) 10 uF
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44,

45,

A\ 46.

o 47.

48.

\ 2

50.

o NIRRT (sonometer)k—@ SR SAMIAR OIF 7 BICH (tension) SR | O L] R
TARS 2 ¢ 1 R AT A 12 4 Z0 TR 7 FACE LA 20

(A)2:1 (B) 1:2 © 1:1 BT 3
7@ TS 7Y P GaR Q TR X W& (K

(A) 40 (/BS‘ 20 (C) 6Q (D) 10Q
R (IR 7 sec 517 T0GR *1 CAI (9197 | PO *{C (71 330 m/sec o0, Rpeess &g
(A) 231 Km (B)23.1 Km (C)2.31 Km (D) 231 Km

S 7 e QRCGITE SF 16 39 | 7015 100°C 9 25® G A9 (mole) SRS S @@
G 2o @ @ SIN-919 (mole) BBTYITSTA (G #IfIfes Tl

(A) 16: 1 (B)4:1 @f1:1 D)1:4

RRTIICS S TR Z=2 I3 SR (mass number) A= 4| He" S 8 ZRRGITET 22N

(A) 1:4 (B)4:1 (©1:2 (D)2:1
\ 497 800K £2% 200°K ISR ARG RS ST W3 1. . SSTsE TAre
(A) 4:1 B2 ©)1:2 (D) 1:4
a3 (TEET 27w X £ pET ST Y AL T TE | gw«m@% a @"ﬁf@?@
B ~ —_ 2 9 e % L 2 X\
LS 2 PRI TR T L2 LT &Z —_— Y 7

2y

(A) Z AT GRAT X #EET TR 5T 2 TR
(B) Z 7R SR X AR ST 5T 2 TN - b
(C) Z AR ARES A X 2T AR RS IRA G | @ s

B 7 SRR ARSI F X AR ARSI TG G 1w

2
B
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CHEMISTRY
. ) ( Bengali Version )
5’?/4549 . . :
0 0P 2( - Each question carries 1 mark
Full Marks : 50
1. "R AT @ (@2

(A) NH, > CH,NH, > (CH,), NH > NF, (B) NH, < CH,NH, < (CH,), NH < NF,
(C) NF, > NH, > CH,NH, > (CH,), NH

609 NF, < NH, < CH,NH, < (CH,), NH
“\(/ﬁﬁm (P S ST S0 A A0 2

(A) R iferiiacs (B) fi2iEs eizees

(C) e (D) T2 fWafEs 29"
3. Fpe oW oA RfFm K, wa e K, (Eaer
(A) Na+3H, = 2NH; (B) Hy+1, = 2HI
(&r PCls == PCl;+ Cl

(D) 2SO, + 0, == 2S0; | /‘;{f
N (B i csifive A oW A | R
(A) NO | (B) BF, (C) C,H, (D)SF,
(,5/(7”13'131?1' (spelter) T&1— \
R \7// (A) TeeFa cdal (B) f&(a2 37 49 (C) &reea =im 7eaa ;/tf) qug forF
.- (A) HPO, (B) H,PO, (C) H,PO, (D) H,PO, \
7. BETEAETE 26 FUEE G IR T H o — a5 = e
J\’) L) Cus. Fes, (B) CuCO,. Cu(OH), - (C) 2CuCO,. Cu(OH), D) Cu,S D )
T s (P (957 ST DT SR (e GG S Seo e - . J
(A) Br C(CH,),CH,CH, (B) Br CH, CH(CH,)CH,CH,
Q’;EV(C) CH,CH,CH,CH Br CH, (D) (CH.), CH CH Br CH.CH,
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-CY“CC;& |
g Eroe (i TS el (ENSET @ (AT (F FAS T TSI W 2

W gife iz (B) BITW JFEEE (C) @m%% 72 (D) &R ?:TZT‘T.
0. fA 9 (@ oG R 20 1o MRl o —
(A) Sr** (B) Ca* (C) Cu* (D) K*
ST L e e e A STt e A G B oy
. (A) AS (FT75%) =AS(#fH0) = 4 TaS (B) AS (FIFB3) = —AS(Ifat==)

(C) AS (F775%) —AS(ARITH) = &P (D) AS (Wﬂ} ~AS(ARE) = Al

~ ~
12, WLt 782K T 6 —

(A) eT=~ (B) &= (if3l-! (C) ez (D) &=
y GrfeT SpfFeeEa Seid B —
Pkt - (B) wifF (C) 2% e

(A) G GERITAT ST Gl TSR] (3 (T Sle[slial @ BiC &3
B) & T SHCAD G SliFes (J A Sitsl @R 0K @ &P

(C) @ (AT SHICAA (A SO (T (FITAT SiEEE @3R 760 mm BITA FIF

(D) (T (LA SN (WIS SIS STPCO &<

\ué—‘? FEE T TSI —

@ LA TR T (common ion) AeiT iﬁﬁ 19 (B) HA-SNE ATIF 8 G

2. = ezmeraT (D) ST (& (7 TER SHE 0D G378 WT
S <112<r\ (‘C’<(Mr<¢5(:7¢r=—*‘?¢.‘f"?";
\ ﬂ - X o
]2 @ (B T O s D) 1

7. A AL R G 7

(A) S 7o e 273 w0a M0 B edg

(B) 23 STy Ufewge 5ie SfFW loRE Ao

W) 3VYT-_ B Sremad Biol Siipres e fiioes '

(D) wifez@e Blst 4T ARITS &l



/W@WWWWWW @I T 2
(A) SUITSISNTG! 7AW (B) Ff 12 (C) &7 7 (D) OIS = FIFH

W7 o areTw wme SyaiRa 2ty @ sprniEn @aines e [ w0 e
' T LT (T | T SRS 4o SR " —

(A) Cu* (B) AI* (C) Fer* (D) Fe>* .
A0 @l
20. R PrTeiE Tl ozt sifaw so e 8o sty\
N1 (A)25% (B) 10% © 0% Ny T »

21, GG RIICAACE M0 RRCGIEIEE TTR SRCGH Mo i el 792 0 2 2
(A) B2z oz ar A ™ (B) e
(C) Afds fumicaa srolm (D) T @ WE-SE WS
%mﬂmﬁﬁﬁﬂw%mﬁﬁf—*«'? |
\% (A)wﬁ% B) @=3H (€) CEnfEs (D) T
23. (TSR E° (Ag*/ Ag) =~ 0-80 (T @38 E°(Zn*%/Zn) = — 0-76 OB | (PN Aiw B 2
(A) Ag Renfae ware 213 Zn?* & (B) Ag* &lRTgite ail Reifds o
(C) Zn Ag T Ag' @ TIfF® Fa0@ #Im (D) Zn** 2RGITE 71 Rwife =g

24. 250 ml (N/10) o7 Spifices wae WWTMW%(W@WWW
TAM) |

2

(A) M/40 . (BYM/80 (C)M/20 (D) M/4
PR G e w2 3B FF 2 @“’\gk
(A) Cr** - (B)AP* ’ (C) Mg? _ (D) Zn?
26.  IETE GUTH (ATF RGO P W— , :
“ o
\ V(A)Wﬁ%ﬁswﬁwa«ﬁ@ﬁa (B) Mfemiizferes wifte «ag e
(C) WemiElrs e ) (aieimer - (D) FAIGR 77

JENPARH P&C ) (22)
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!
: 27. 3T SHFEE ¢ Enfvam 2ewizres e .3@13#%&@3@%%@1%%@. ISR
Ao ? _
é’vxj ' (A) SHIETCE oG (B) @ 31 & Rferl
(C) FrTE e o (D) @R FACTAEHE

28. &I (WE Cu™ (F Cu - @ RolFe Face 6 ARG @7 A 2 [N= Wﬂmﬁwﬁ]
(A) N, (B) No/2 (C) 2N, | (D) 1 &

29, UFEFEET »<T~*w’%as«n e, AN SHFTES @3k (ISR FRET @3 wenF «ifite 7@
390.9. 91.062 126.4 9% TLF1 HCI 9% GoUT ARl S a/gor 3 237

(A)126.3 (B) 608.3 ~ (0)3555 (D) (IIOZ 77
300 FI% NaCl 43 9107 25—
A) SECER (B) GOBERI (©) =Rz - D)
@V BeCl,, HyS, BF;, CO,, 3% §H3 O3 Y (NS SFT 2 D}
’ (A) BeCl,, H,S, BF; (B) BeCl,, BF;, CO, [/’Y_)« b mwy iﬁ
«) BeCl,, H,S, NH; | (D) BF;, CO,, NH; 7 JTFH : / g
3. @ Fh e «IRea 906 5% SR sifisy 9 =1, Gift = - .
V0 (A) 5T BB ' (B) ¥ BN | & —B€— @%\:ﬁ\ﬁ
(C) TIFE = em by (D) IR SN 136 (Adiabatically insulated system) @jév '
33. 27°C € latm 577 820 ml 930 (TR AT ©F 2 B0E ©F AR G —

(A) 60 (B) 44 (C) 30 (D) 90

-

<34 0-5°C BT TRERE NaNG: €9 FE HC| <7 7T R o p - il el <51 20
Lﬂﬁaﬁ%ﬂﬂmﬂW“W TS T ARG

(A) BRI ﬁﬁw (B) Gritenmisifere fKfemat
(©) TS BRTET R (D) Rem-srrETeR R

35, K,[Cu(CN),] (M50 FATIT SR -7 F9 2
1L (B) +3 (€) 0 S/ D+
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367 sifeTe (AN @ EREE He TG 6 215125 SO G921 0 €16 S0 S0 SIS '8
FICATT ILE7= = 22240 20 2

\QQ/(A) Na £3% Cl- (B) Na &R O, (C) H, €3 0, (D) Hs €22 Cl,
A STST (@G SIS R et (v 2

0 0O 0 0
i I I
(A) HyC—C-Cl (B) H;C-C-0-C-CH;  (C) H;C-C-NH, (D) H;C-CHO

38.  SIBIET A (W @0 AT ¢

(A) 1,3 - REouzas (B) 2 —alfEe catifslw
(C) 2 —NQFF-1, 3 - [TGILB3A (D) 2 — @Al 1,3 — FATore@sy
Mmmmﬂm @G = e TE _\ﬁf\@ﬂ‘;\‘j\\
: e
‘;\// (A) HF (B) HBr v HI D) HCI

40. (AT SRR TACH HUTE (T o Tw ¢ 9 1FTF T8 ST
(A) Tt 3 (ol H =TT

(B) BT A = #ETEa T e o

»

(C) TACF 3 2<7x w7 £22 o7 ol (il 51

(D) TICET 2° Z&Tw (A R AT T2 B |

Wﬁﬂ—%ﬁw CFI (sl oS R 2

&V (A) SR (B) AISFH! (©) =S (D) RRERE
@%CA' " e @ TERore (ifee e TeEeTm [feam om e «md Sesim =2
>
4 (A) G =T | (B) (ARgIEH FHET .g(ef} L
o < Al
(C) m - (P bje (D)O - @R P - (FIT o7z (\/\2@) X§AV' X
-@({QH”N e ARG @ eifre w96 2R RUIRCH o5 T FE ¢ @ / '
g\,{%‘i/m 4 (B)3 (€2 1Dy 3
IS @a@ﬁam e T
N&G\@\
4@ (A)A. CI>F>Br>1 (B) F>Cl>Br>1 (C) F<Cl<Br<I (D) F<ClI<I>Br )
JENPARH P&C ’ (24)
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zywwmﬁm 573 BT FACS AlGS s (dIH 2

(A) (A o (B) TATANA (A OITG
n
S CaCl I
(C) 9lIv H,SO, (D) CaCl, ) C)"x!) o\)r
46, BN @i O A @ TE @ ol o0 Y o 3
" A 23 4 L (L6 S it N ¢ F\A/ )fj ¢ C%‘[\% \C\’x/\}(
(A) Ga (B) Mg £€) Al (D) Li Yy Y4
L
47, LEE sreTw T @RS PI0E A 2- (AlHe 4w FACO ([P0 ATAEH 27 2 e L,‘«*
[D_ (A) HCHO (B) CH;CHO (C) C,HsOH (D) CH,COCH,
2 TTTED ¢ FIFEAIN @EUSIEs 9F e Sed T AleT q— i 2
(A) Tew (B) e
(C) 55A - (D) FTFETT ([FCSICAG
19, THEY CNER 5% S 6 ? "@(@’m’%ﬂ o]
T (A) 144k (B) 1-44 t,, (C) 0-693k (D) k x t1/2/0-693><\
50. G “15- S FFGICEH 2ATHITT T T *34 Tl *Ife dn—
¢ (A)2:25 (B) 455 ) 9 (D) 1-12 Yyve sk
| ~ (a3
o
~ ce e
%\ A \}q'é - O & » /9

*
L »
< s @”1‘\”09‘@%5
>/ N

P —
L .ﬁ.; v
(Y .
N
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